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START
L

/ InvolveTable[1000] 7

Fori =0 To 899 >4__

Y

PointerList = InvolveTable{i]

Is PointerList = NULL?

NodePresent = PointerList->Node

L]

MakelmplicationGraph (Nodepresent)

Y

PointerList = PointerList->Next

Is PointerList = NULL?

Yes

)
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START

Y
L NodePresent /
v

LirelnputList = FirstLineintoNode (NodePresent)
LineQutputlL.ist = FirstLineQutNode (NodePresent)
Nodetype = NodeType {Nodepresent)

Initial {Array_Input);Countlnput=0

Initial (Array_Output),CountOutput=0

[s LinelnputList = NULL?

Array Input{CountInput] = SearchOrMakeNodeimply (LineinputList->line)
Ao Imuadundinduns i udumudiaes luas ey
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Countlnput = Countlnput+1

LineinputList = Lineinput].ist->Next

Is LineinputList = NULL?
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Is OutputList->InvoleLine ='Y" 2

ArrayOutput{ Countlnput] = SearchOrMakeNodeimply (LineOutputList->line)
CountQutput = CountQutput+1

LineOutputList = LineQutputList->Next

Is LineOutputList = NULL?

#f12 Link Tfuayilse Tsnfinnniaes
MakeTernaryLink (ArrayInput, ArrayOutput,Nodetype)

Y

w4 Link TAAuBumimduns

MakelmplicationLink (ArrayInput, ArrayQutput,Nodetype}

v
=
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START

v

AunlsHigniaGoaty
ArrayTable

fmuanr i Tnualy

ArrayTable{i] = Logic |

ImplicationFlag = DoDirect implication (ArraTable[i]->node)

1

BindingFlag = Successfull i=i+l

Return Successfull
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Yes i=0
# Yes
BindingFlag = UnSuccessfull TempValue = Logicof(Array Table[i-1])
Retumn UnSuccessfult UndoDireclmplication{ArrayTable[i-1 }->node}

Yes

AIMUART 1AL THUA Ty
AmravTable[i-1] = Logic O

ImplicationFlag = DoBirectImplication { ArraTable{i]->node)

Direction = Backward Direction = Backward
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